R2008076 HAFB - CIFCE-WP-6-8-30-PNP COMPLETE PARTS LIST

ITEM QTY PART NUMBER DESCRIPTION
1 Unknown Error CM-MMP-15 10 ga Collector Module- Motor Mount Plate for 15" Fan
2 Unknown Error CM-MMA-15 12 ga Collector Module- Motor Mount Angle- 15" Fan
3 Unknown Error 12CM-MMB-L-15 12 ga Collector Module- Motor Mount Bracket- Left- for 15" fan
4 Unknown Error 12CM-MMB-R-15 12 ga Collector Module- Motor Mount Bracket- Right- for 15" fan
5 Unknown Error 12CS-FSB-48 12 ga P&O Cooling Station- Fan Support Bracket
6 Unknown Error 12CS-FSB-18-S 12 ga P&0O Cooling Station- Fan Support Bracket- Special
7 Unknown Error 14AAN-RB-60D-4ID 14 ga Adjustable Air Nozzle- Retainer Bracket- 6" O.D.- 4" I.D.
8 Unknown Error 14CS-AS-T-45INT-36 14 ga Cooling Station- Angle Section- Top- 45 degree INTerior
9 Unknown Error 14CS-ICW-FS-24-48 14 ga Cooling Station- Inlet Cone Wall- Fan Section
10 Unknown Error 14CS-AS-T-45EXT-36 14 ga P&O Cooling Station- Angle Section- Top- 45 degree EXTerior
11 Unknown Error 14CS-BW-ES-S-46-42 14 ga P&0O Cooling Station- Back Wall- End Section- Short
12 Unknown Error 14CS-BW-ES-S-48-42 14 ga P&0O Cooling Station- Back Wall- End Section- Short
13 Unknown Error 14CS-BW-FS-AC-48-42 14 ga P&0O Cooling Station- Back Wall- Fan Section- Access Cover
14 Unknown Error 14CS-BW-FS2-S-48-42 14 ga P&0O Cooling Station- Back Wall- Fan Section- Short
15 Unknown Error 14CS-BW-MS-S-48-42 14 ga P&0O Cooling Station- Back Wall- Mid Section- Short
16 Unknown Error 14CS-BW-MS2-S-60-42 14 ga P&O Cooling Station- Back Wall- Mid Section- Short
17 Unknown Error 14CS-F-12-48 14 ga P&0O Cooling Station- Floor
18 1 14CS-F2-12-108 14 ga P&O Cooling Station- Floor
19 1 14CS-F2-12-48 14 ga P&O Cooling Station- Floor
20 1 14CS-F2-12-60 14 ga P&O Cooling Station- Floor
21 Unknown Error 14CS-IW-MS-S-42-48 14 ga P&0O Cooling Station- Inner Wall- Mid Section- Short
22 Unknown Error 14CS-IW-MS-S-42-60 14 ga P&0O Cooling Station- Inner Wall- Mid Section- Short
23 Unknown Error 14CS-IW-MS-S-46-42 14 ga P&0O Cooling Station- Inner Wall- Mid Section- Short
24 Unknown Error 14CS-IW-MS2-S-42-48 14 ga P&0O Cooling Station- Inner Wall- Mid Section- Short
25 Unknown Error 14CS-IW-ES-T-36-42-96 14 ga P&O Cooling Station- Interior Wall- End Section- Tall
26 Unknown Error 14CS-IW-FS-S-36-42 14 ga P&O Cooling Station- Interior Wall- Fan Section- Short
27 Unknown Error 14CS-IW-MS-S-36-42 14 ga P&0O Cooling Station- Interior Wall- Mid Section- Short
28 Unknown Error 14CS-IW-MS2-S-36-42 14 ga P&O Cooling Station- Interior Wall- Mid Section- Short
29 Unknown Error 14CS-IW-MS3-S-36-42 14 ga P&O Cooling Station- Interior Wall- Mid Section- Short
30 Unknown Error 14CS-IW-MS-T-36-42 14 ga P&0O Cooling Station- Interior Wall- Mid Section- Tall
31 Unknown Error 14CS-T-ES-36-48 14 ga P&0O Cooling Station- Top- End Section
32 Unknown Error 14CS-T-MS-36-48 14 ga P&0O Cooling Station- Top- End Section
33 Unknown Error 14CS-T-FS-36-48 14 ga P&0O Cooling Station- Top- Fan Section
34 Unknown Error 14CS-T-MS-36-60 14 ga P&O Cooling Station- Top- Mid Section
35 6 14CS-A-11 2-11 2-137 8 14 ga P&O- Cooling Station- Angle
36 Unknown Error 14CS-A-11 2-11 2-48 14 ga P&O- Cooling Station- Angle
37 Unknown Error 14CS-A-11 2-11 4-12 958 14 ga P&O- Cooling Station- Angle
38 Unknown Error 14CS-A-11 2-11 4-20 125 14 ga P&0O- Cooling Station- Angle
39 Unknown Error 14CS-A-11 2-11 4-30 809 14 ga P&0O- Cooling Station- Angle
40 Unknown Error 14CS-A-11 2-11 4-311 2 14 ga P&0O- Cooling Station- Angle
41 Unknown Error 14CS-A-11 2-11 4-7 22 14 ga P&O- Cooling Station- Angle
42 Unknown Error 14CS-A-11 2-11 4-8 345 14 ga P&O- Cooling Station- Angle
43 Unknown Error 14CS-A-11 2-11 4-9 92 14 ga P&O- Cooling Station- Angle
44 1 14CS-A2-11 2-11 2-108 14 ga P&O- Cooling Station- Angle
45 Unknown Error 14CS-A2-11 2-11 2-48 14 ga P&0O- Cooling Station- Angle
46 1 14CS-A2-11 2-11 2-60 14 ga P&0O- Cooling Station- Angle
47 Unknown Error 14CS-A3-11 2-11 2-48 14 ga P&O- Cooling Station- Angle
48 Unknown Error 14CS-A4-11 2-11 2-48 14 ga P&0O- Cooling Station- Angle
49 Unknown Error 14CS-A5-11 2-11 2-48 14 ga P&O- Cooling Station- Angle
50 Unknown Error 14CS-A5-11 2-11 2-60 14 ga P&O- Cooling Station- Angle
51 Unknown Error 14CS-A6-11 2-11 2-48 14 ga P&O- Cooling Station- Angle
52 Unknown Error 14CS-A6-11 2-11 2-60 14 ga P&O- Cooling Station- Angle
53 Unknown Error 14CS-A7-11 2-11 2-48 14 ga P&0O- Cooling Station- Angle
54 Unknown Error 14CS-A7-11 2-11 2-60 14 ga P&O- Cooling Station- Angle
55 1 14CS-A8-11 2-11 2-48 14 ga P&O- Cooling Station- Angle
56 Unknown Error 14CS-A8-11 2-11 2-60 14 ga P&0O- Cooling Station- Angle
57 Unknown Error 14CS-A9-11 2-11 2-60 14 ga P&O- Cooling Station- Angle
58 Unknown Error 14CS-AS-45EXT36-48 14 ga P&O- Cooling Station- Angle Section- 45 degree EXTerior
59 Unknown Error 14CS-AS-45INT36-48 14 ga P&0O- Cooling Station- Angle Section- 45 degree INTerior
60 Unknown Error 14CS-A-L-11 2-11 2-93 345 14 ga P&O- Cooling Station- Angle- Left
61 Unknown Error 14CS-A-R-11 2-11 2-93 345 14 ga P&O- Cooling Station- Angle- Right
62 Unknown Error 14CS-CCT-12-48 14 ga P&O- Cooling Station- Cooiling Coil Tray
63 Unknown Error 14CS-CCW-34-48 14 ga P&O- Cooling Station- Cooling Coil Wall
64 Unknown Error 14CS-IW-AS-9-42 14 ga P&0O- Cooling Station- Inner Wall- Angle Section
65 9 14CS-PL-4-43 8 14 ga P&0O- Cooling Station- Plate
66 Unknown Error 14SS-AAN-CP-60D-41D 14 ga Stainless Steel- Adjustable Air Nozzle- Cover Plate- 6" O.D.- 4" I.D.
67 Unknown Error 14SS-CS-3NW-AS-45EXT36-48 14 ga Stainless Steel- Cooling Station- 0 Nozzle Wall- Angle Section- 45 degree EXTerior
68 Unknown Error 14SS-CS-0NW-MS-S1-36-60-42 14 ga Stainless Steel- Cooling Station- 10 Nozzle Wall- Mid Section- Short
69 Unknown Error 14SS-CS-12NW2-MS-S2-36-60-42 14 ga Stainless Steel- Cooling Station- 12 Nozzle Wall- Mid Section- Short
70 Unknown Error 14SS-CS-3NW-AS-45INT36-48 14 ga Stainless Steel- Cooling Station- 3 Nozzle Wall- Angle Section- 45 degree INTerior
71 Unknown Error 14SS-CS-3NW-MS-S-36-48-42 14 ga Stainless Steel- Cooling Station- 3 Nozzle Wall- Mid Section- Short
72 Unknown Error 14SS-CS-6NW2-MS-S2-36-60-42 14 ga Stainless Steel- Cooling Station- 6 Nozzle Wall- Mid Section- Short
73 Unknown Error 14SS-CS-9NW-FS-S-36-48-42 14 ga Stainless Steel- Cooling Station- 9 Nozzle Wall- Fan Section- Short
74 Unknown Error 14SS-CS-CCR-1-4 875-1-42 14 ga Stainless Steel- Cooling Station- Cooling Coil Retainer
75 Unknown Error 14SS-CS-CCR-3 4-6_6225-42 14 ga Stainless Steel- Cooling Station- Cooling Coil Retainer
76 Unknown Error 14SS-CS-CCT-36-48 14 ga Stainless Steel- Cooling Station- Cooling Coil Tray
77 Unknown Error 14SS-CS-CCT2-36-48 14 ga Stainless Steel- Cooling Station- Cooling Coil Tray
78 Unknown Error 14SS-CS-EFP-6F-48-96 14 ga Stainless Steel- Cooling Station- Exhaust Filter Panel- 5 Filters
79 Unknown Error C18-CP-12d 18 ga Custom P&O- Cover Plate- 12" diam.
80 2 C18CS-BP4-24-96 18 ga Custom- P&0O Cooling Station- Booth Panel 4-sided pan
81 2 C18CS-INT-J-96 18 ga Custom- P&O Cooling Station- Interior- Joint
82 1 18CS-BWP4-24-96 18 ga P&O Cooling Station- Back Wall Panel 4-sided pan
83 1 18CS-BWP4-30-96 18 ga P&O Cooling Station- Back Wall Panel 4-sided pan
84 2 18CS-BWP4-44-96-22.5 18 ga P&0O Cooling Station- Back Wall Panel 4-sided pan- 22.5 degree
85 2 18CS-BP4-24-96 18 ga P&O Cooling Station- Booth Panel 4-sided pan
86 Unknown Error 18CS-BP4-L-24-96 18 ga P&0O Cooling Station- Booth Panel 4-sided pan- Left
87 1 18CS-BP4-L-30-96 18 ga P&0O Cooling Station- Booth Panel 4-sided pan- Left
88 2 18CS-BP4-L2-24-96 18 ga P&O Cooling Station- Booth Panel 4-sided pan- Left
89 Unknown Error 18CS-BP4-R-24-96 18 ga P&0O Cooling Station- Booth Panel 4-sided pan- Right
90 2 18CS-BP4-R-30-96 18 ga P&O Cooling Station- Booth Panel 4-sided pan- Right
91 1 18CS-BP4-R2-24-96 18 ga P&0O Cooling Station- Booth Panel 4-sided pan- Right
92 Unknown Error 18SS-CS-EFP3-108-30-80-20 18 ga Stainless Steel- Cooling Station- Exhaust Filter Panel 3-sided pan
93 Unknown Error 18SS-CS-EFP3-48-30-40-20 18 ga Stainless Steel- Cooling Station- Exhaust Filter Panel 3-sided pan
94 Unknown Error 18SS-CS-EFP3-60-30-40-20 18 ga Stainless Steel- Cooling Station- Exhaust Filter Panel 3-sided pan
95 1 18SS-CS-PC-12-12-108 18 ga Stainless Steel- Cooling Station- Plenum Cap
96 1 18SS-CS-PC-12-12-48 18 ga Stainless Steel- Cooling Station- Plenum Cap
97 1 18SS-CS-PC-12-12-60 18 ga Stainless Steel- Cooling Station- Plenum Cap
98 1 18SS-CS-PC-E-12-42 18 ga Stainless Steel- Cooling Station- Plenum Cap- End
99 1 18SS-CS-PC-E-L-12-42 18 ga Stainless Steel- Cooling Station- Plenum Cap- End- Left
100 2 18SS-CS-PC-E-R-12-42 18 ga Stainless Steel- Cooling Station- Plenum Cap- End- Right
101 Unknown Error SS-FGEX-E-N 18 ga Stainless Steel- Filter Grid EXhaust- End- No holes
102 Unknown Error SS-FGEX-S-40-N 18 ga Stainless Steel- Filter Grid EXhaust- Side- No holes
103 Unknown Error SS-FGEX-S-80-N 18 ga Stainless Steel- Filter Grid EXhaust- Side- No holes
104 Unknown Error SS-FG-A 18 ga Stainless Steel- Filter Grid- Angle- No holes
105 Unknown Error SS-FG-S-40-N 18 ga Stainless Steel- Filter Grid- Side- No holes
106 Unknown Error AFW-6000 AcoustaFoil Wheel- 100% Efficiency for 6000 cfm
107 Unknown Error AAN-S-40D-3ID Adjustable Air Nozzle- Spun single piece 16 ga- 4" O.D.- 3" I.D.
108 Unknown Error AAN-UHMW-60D-4ID-1 8 Adjustable Air Nozzle- UHMW- 6" O.D.- 4" I.D.- 1/8" thk.
109 Unknown Error 22305x12 Bulkhead 3/4"
110 Unknown Error SC41-27-45 Closed Cell Black EDPM Foam 1/2"x1/8"x12'-0"/ item
111 Unknown Error SC 41- 33-16-10-47-CS Closed Cell Black EDPM Foam 1/2"x1/8"x18'-0"/ item- for Cooling Station
112 Unknown Error SC 41- 33-16-22-47-CS Closed Cell Black EDPM Foam 1/2"x1/8"x20'-0"/ item- for Cooling Station
113 Unknown Error SC 41- 33-16-22-59-CS Closed Cell Black EDPM Foam 1/2"x1/8"x22'-0"/ item- for Cooling Station
114 Unknown Error SC461 2-941 2 Closed Cell Black EDPM Foam 1/2"x1/8"x24'-0"/ item
115 Unknown Error SC 41-45INT36-48-CS Closed Cell Black EDPM Foam- Angle Section- 45 degree INTerior 1/2"x1/8"x22'-0"/ item- for Cooling Station
116 Unknown Error SC41-211 5-41-CS Closed Cell Black EDPM Foam- Cooling Station 1/2"x1/8"x7'-6"/ item
117 Unknown Error CM-IC-15d Collector Module- aluminum Inlet Cone for 15" diameter fan
118 Unknown Error CS-CC-L-42-23-5 Cooling Station- Cooling Coil- Left 42"Lx23"Hx5"W
119 Unknown Error 29192 Cross Recessed Truss Head Machine Screw 1/4-20x1 1/4
120 Unknown Error 29175 Cross Recessed Truss Head Machine Screw 1/4-20x3/4
121 Unknown Error C-A-3-2-5 16-6 Custom- Angle
122 Unknown Error C-A-6-4-5 16-4 Custom- Angle
123 Unknown Error CM3616T Direct Drive C-Face Motor 7.5hp
124 Unknown Error 33741 External Tooth Lock Washer 1/2"
125 Unknown Error 33739 External Tooth Lock Washer 3/8"
126 Unknown Error 33219 Fender Washer- 3/8" 1.D.x1 1/4" O.D.
127 Unknown Error 120378 Hex Bolt - 1/2-13x1"
128 Unknown Error 120344 Hex Bolt - 3/8-16x1"
129 Unknown Error 13101 Hex Bolt - 3/8-16x1/2"
130 Unknown Error 13103 Hex Bolt - 3/8-16x3/4"
131 Unknown Error 37337 Hex Flange Lock Nut- 1/4-20
132 Unknown Error 37024 Nylon Insert Lock Nut - 3/8-16
133 Unknown Error 38174 Pilot Weld Nut 1/2-13
134 Unknown Error F-PS-1 2-3 8 Plastic Spacer- 3/4"0.D.- 1/2" 1.D.- 3/8" Long
135 2 Rohner Sticker- Large Rohner Sticker- Large
136 Unknown Error 124581 Spot Weld Nut 1/4-20
137 Unknown Error 124583 Spot Weld Nut 3/8-16
138 Unknown Error DR900 Square Drive Truss Head Self-drilling Screw- 1/4-20x1 1/4"
139 Unknown Error 0155W2020-20 Tacky Intake Filter- 20"x20"
140 Unknown Error 14SS-CS-3NW-ES-S-36-48-42 14 ga Stainless Steel- Cooling Station- 3 Nozzle Wall- End Section- Short
141 1 LDPI #381-4B-200-SG-DC

Unknown Error

AAN-3ID




